Analytic Geometry Unit 1 — 2 Midterm Practice

Find the value of each variable. Write answers in simplest
radical form.

Find the sin, cos, and tangent of the below angles of the triangle below: (This means find the RATIO, or fractions)
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Use trigonometric ratios e find the value of each variable.
Round decimals to the nearest tenth. |
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Find the values of the angle measures A and B.

Find the value of x.
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John wants to-measure the height of a tree. He
walks exactly 100 feet from the base of the tree
and looks up. The angle from the ground to the
top of the tree is 33° . How tall is the tree?

~Given: ABCD ~ WXYZ
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!5"%) Find the ratio of polygon ABCD to WXYZ
”L) Find the scale factor of polygon ABCD to WXYZ
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Find the value of x
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State the theorem used to prove the trraregies arimj
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‘ n the isosceles triangle below, find the value of x
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The triangles shown are similar. Which of the
following is nor a correct statement?
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{Jge the origin as the sent
tp find the coordinates of
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The two polygons are similar. Find the scale factor. |
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Analytic Geometry Unit 1 — 2 Midterm Practice

300

p hp

=) 2 &:-?qr

na - : =72 A= B
r=¢ 1782 |5 is‘r b s
j;:gﬁ J b= 25 _;{

L .
Find the sin, cos, and tangent of the below angles of the triangle below: (This means find the RATIO, or fractions)
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- CosA=4<7/2H
Tan B = "/D/ci

SinB= '“-}0/4,
- TanA= 7/40

Use trigonometric ratios to find the value of each varlah!aw
Reund decimals to the nearest tenth.
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Find the values of the angle measures A and B.
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John wants to measure the height of a tree. He

walks exactly 100 feet from the base of the tree
and iooks up. The angle from the ground to the

toppf the tree is 330 How tall is the tree?
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Find the value of x
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State the thecrem used to prove the triangles are congruent.
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The triangles shown are similar, Which of the
oF T following is #or a correct statement?
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Use the origin as the center of the
ta find the coordinates of the verti

dilation and the given seale factor
ces of the image of the polygon.

29 k=2 TP M, (43)k=z CPTTIT]
Ciml N O s 14|
OL\“J \‘I;\‘LA , N/Cg)i) 6 (,2 g/)_ V‘\\E/H 6;'(; 4)
MM) LISl ) (60T (-
1} i ]Z—_ (jé&cz:) i ! '('if}/)

/;/30)

T (4D

The two pelygons are similar. Find the seale factor. (8.3)
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Find x:
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